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Simplify the ratios in each case and write as 𝒂: 𝒃. 

1.  𝟏𝟑 𝒊𝒏.

𝟓𝟐 𝒊𝒏.
 

2.  𝟕 𝒇𝒕.

𝟑𝟓 𝒇𝒕.
 

 

3.  𝟕 𝒅𝒂𝒚𝒔

𝟐 𝒘𝒆𝒆𝒌𝒔
 

4.  𝟏𝟒 𝒌𝒈.

𝟐𝟏 𝒌𝒈.
 

 

Write a ratio expressing the slope of the line through each pair of points. 

5.  (−𝟑, −𝟓)     𝒂𝒏𝒅      (−𝟒, 𝟐𝟎) 6.  (−𝟑, 𝟕)     𝒂𝒏𝒅      (𝟔, 𝟓) 

 

 

 

7.  (−𝟒, 𝟏𝟓)     𝒂𝒏𝒅      (𝟎, 𝟓) 8.  (𝟐, −𝟕)     𝒂𝒏𝒅      (𝟏, −𝟑) 

 

 

 

Solve each proportion. 

9.  𝒙

𝟗
=

𝟖

𝟔
 

10.  𝟑𝟓

𝟏𝟒
=

𝟓𝟎

𝒙 − 𝟓
 

 

 

11.  𝒙 + 𝟐

𝟑
=

𝟏𝟐

𝟖
 

12.  𝒙

𝟑
=

𝟏𝟐

𝒙
 

 

 

13.  𝟓𝒙

𝟑𝟔
=

𝟏𝟐𝟓

𝒙
 

14.  𝒙 − 𝟑

𝟐
=

𝟖

𝒙 + 𝟑
 

 

 

15.  𝟏

𝟐
=

𝒙

𝟒
 

16.  𝒙 + 𝟕

𝟔𝟎
=

𝟒

𝟏𝟓
 

 

 

17.  𝟏𝟔

𝒙
=

𝒙

𝟒
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18. The ratio of the side lengths of a triangle is 𝟑: 𝟒: 𝟓, and its perimeter is 𝟕𝟐 𝒄𝒎. What is the length of the longest 
side of the triangle? 

 

 

 

 

 

 

 

19. The ratio of the side lengths of an kite is 𝟒: 𝟒: 𝟏𝟏: 𝟏𝟏 and its perimeter is 𝟏𝟐𝟎 𝒎. What is the side lengths the 
kite? 

 

 

 

 

 

 

 

20. The ratio of the angle measure in a isosceles trapezoid is 𝟓: 𝟓: 𝟕: 𝟕. What is the measure of the largest angles? 
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ANSWERS 

Simplify the ratios in each case and write as 𝒂: 𝒃. 

1.  𝟏𝟑 𝒊𝒏.

𝟓𝟐 𝒊𝒏.
=

𝟏

𝟒
 

2.  𝟕 𝒇𝒕.

𝟑𝟓 𝒇𝒕.
=

𝟏

𝟓
 

 𝟏: 𝟒  𝟏: 𝟓 

3.  𝟕 𝒅𝒂𝒚𝒔

𝟐 𝒘𝒆𝒆𝒌𝒔
(

𝟏 𝒘𝒆𝒆𝒌

𝟕 𝒅𝒂𝒚𝒔
) =

𝟏

𝟐
 

4.  𝟏𝟒 𝒌𝒈.

𝟐𝟏 𝒌𝒈.
=

𝟐

𝟑
 

 𝟏: 𝟐  𝟐: 𝟑 

 

 

Write a ratio expressing the slope of the line through each pair of points. 

5.  (−𝟑, −𝟓)     𝒂𝒏𝒅      (−𝟒, 𝟐𝟎) 6.  (−𝟑, 𝟕)     𝒂𝒏𝒅      (𝟔, 𝟓) 

 
𝒎 =

𝒚𝟐 − 𝒚𝟏

𝒙𝟐 − 𝒙𝟏
=

𝟐𝟎 − (−𝟓)

−𝟒 − (−𝟑)
=

𝟐𝟎 + 𝟓

−𝟒 + 𝟑
=

𝟐𝟓

−𝟏
 

𝒎 = −𝟐𝟓 

 
𝒎 =

𝒚𝟐 − 𝒚𝟏

𝒙𝟐 − 𝒙𝟏
=

𝟓 − 𝟕

𝟔 − (−𝟑)
=

−𝟐

𝟔 + 𝟑
=

−𝟐

𝟗
 

𝒎 = −
𝟐

𝟗
 

7.  (−𝟒, 𝟏𝟓)     𝒂𝒏𝒅      (𝟎, 𝟓) 8.  (𝟐, −𝟕)     𝒂𝒏𝒅      (𝟏, −𝟑) 

 
𝒎 =

𝒚𝟐 − 𝒚𝟏

𝒙𝟐 − 𝒙𝟏
=

𝟓 − 𝟏𝟓

𝟎 − (−𝟒)
=

−𝟏𝟎

𝟎 + 𝟒
=

−𝟏𝟎

𝟒
 

𝒎 = −
𝟓

𝟐
 

 
𝒎 =

𝒚𝟐 − 𝒚𝟏

𝒙𝟐 − 𝒙𝟏
=

−𝟑 − (−𝟕)

𝟏 − 𝟐
=

−𝟑 + 𝟕

−𝟏
=

𝟒

−𝟏
 

𝒎 = −𝟒 

 

Solve each proportion. 

9.  𝒙

𝟗
=

𝟖

𝟔
 

10.  𝟑𝟓

𝟏𝟒
=

𝟓𝟎

𝒙 − 𝟓
 

 𝟔𝒙 = 𝟗(𝟖) 

𝟔𝒙 = 𝟕𝟐 

𝟔𝒙

𝟔
=

𝟕𝟐

𝟔
 

𝒙 = 𝟏𝟐 

 𝟑𝟓(𝒙 − 𝟓) = 𝟏𝟒(𝟓𝟎) 

𝟑𝟓𝒙 − 𝟏𝟕𝟓 = 𝟕𝟎𝟎 

𝟑𝟓𝒙 − 𝟏𝟕𝟓 + 𝟏𝟕𝟓 = 𝟕𝟎𝟎 + 𝟏𝟕𝟓 

𝟑𝟓𝒙 = 𝟖𝟕𝟓 

𝟑𝟓𝒙

𝟑𝟓
=

𝟖𝟕𝟓

𝟑𝟓
 

𝒙 = 𝟐𝟓 
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11.  𝒙 + 𝟐

𝟑
=

𝟏𝟐

𝟖
 

12.  𝒙

𝟑
=

𝟏𝟐

𝒙
 

 𝟖(𝒙 + 𝟐) = 𝟑(𝟏𝟐) 

𝟖𝒙 + 𝟏𝟔 = 𝟑𝟔 

𝟖𝒙 + 𝟏𝟔 − 𝟏𝟔 = 𝟑𝟔 − 𝟏𝟔 

𝟖𝒙 = 𝟐𝟎 

𝟖𝒙

𝟖
=

𝟐𝟎

𝟖
 

𝒙 =
𝟓

𝟐
 

 𝒙𝟐 = 𝟏𝟐(𝟑) 

𝒙𝟐 = 𝟑𝟔 

𝒙 = ±𝟔 

13.  𝟓𝒙

𝟑𝟔
=

𝟏𝟐𝟓

𝒙
 

14.  𝒙 − 𝟑

𝟐
=

𝟖

𝒙 + 𝟑
 

 𝟓𝒙𝟐 = 𝟏𝟐𝟓(𝟑𝟔) 

𝟓𝒙𝟐 = 𝟒𝟓𝟎𝟎 

𝟓𝒙𝟐

𝟓
=

𝟒𝟓𝟎𝟎

𝟓
 

𝒙𝟐 = 𝟗𝟎𝟎 

𝒙 = ±𝟑𝟎 

 (𝒙 − 𝟑)(𝒙 + 𝟑) = 𝟖(𝟐) 

𝒙𝟐 − 𝟗 = 𝟏𝟔 

𝒙𝟐 − 𝟗 + 𝟗 = 𝟏𝟔 + 𝟗 

𝒙𝟐 = 𝟐𝟓 

𝒙 = ±𝟓 

15.  𝟏

𝟐
=

𝒙

𝟒
 

16.  𝒙 + 𝟕

𝟔𝟎
=

𝟒

𝟏𝟓
 

 𝟏(𝟒) = 𝟐𝒙 

𝟒

𝟐
=

𝟐𝒙

𝟐
 

𝟐 = 𝒙 

 𝟏𝟓(𝒙 + 𝟕) = 𝟒(𝟔𝟎) 

𝟏𝟓𝒙 + 𝟏𝟎𝟓 = 𝟐𝟒𝟎 

𝟏𝟓𝒙 + 𝟏𝟎𝟓 − 𝟏𝟎𝟓 = 𝟐𝟒𝟎 − 𝟏𝟎𝟓 

𝟏𝟓𝒙 = 𝟏𝟑𝟓 

𝟏𝟓𝒙

𝟏𝟓
=

𝟏𝟑𝟓

𝟏𝟓
 

𝒙 = 𝟗 

17.  𝟏𝟔

𝒙
=

𝒙

𝟒
 

  

 𝟏𝟔(𝟒) = 𝒙𝟐 

𝟔𝟒 = 𝒙𝟐 

±𝟖 = 𝒙 
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18. The ratio of the side lengths of a triangle is 𝟑: 𝟒: 𝟓, and its perimeter is 𝟕𝟐 𝒄𝒎. What is the length of the longest 
side of the triangle? 

𝟑: 𝟒: 𝟓     →      𝟑𝒙: 𝟒𝒙: 𝟓𝒙 

𝑷 = 𝟕𝟐 𝒄𝒎 

𝑷 = 𝟑𝒙 + 𝟒𝒙 + 𝟓𝒙 = 𝟏𝟐𝒙 

𝟕𝟐 𝒄𝒎 = 𝟏𝟐𝒙 

𝟕𝟐 𝒄𝒎

𝟏𝟐
=

𝟏𝟐𝒙

𝟏𝟐
 

𝟔 𝒄𝒎 = 𝒙 

𝒍𝒐𝒏𝒈𝒆𝒔𝒕 𝒔𝒊𝒅𝒆 = 𝟓𝒙 = 𝟓(𝟔 𝒄𝒎) = 𝟑𝟎 𝒄𝒎 

 

19. The ratio of the side lengths of an kite is 𝟒: 𝟒: 𝟏𝟏: 𝟏𝟏 and its perimeter is 𝟏𝟐𝟎 𝒎. What is the side lengths the 
kite? 

𝟒: 𝟒: 𝟏𝟏: 𝟏𝟏     →      𝟒𝒙: 𝟒𝒙: 𝟏𝟏𝒙: 𝟏𝟏𝒙 

𝑷 = 𝟏𝟐𝟎 𝒎 

𝑷 = 𝟒𝒙 + 𝟒𝒙 + 𝟏𝟏𝒙 + 𝟏𝟏𝒙 = 𝟑𝟎𝒙 

𝟏𝟐𝟎 𝒎 = 𝟑𝟎𝒙 

𝟏𝟐𝟎 𝒎

𝟑𝟎
=

𝟑𝟎𝒙

𝟑𝟎
 

𝟒 𝒎 = 𝒙 

𝟒𝒙 = 𝟒(𝟒 𝒎) = 𝟒𝒙 = 𝟏𝟔 𝒎 

𝟏𝟏𝒙 = 𝟏𝟏(𝟒 𝒎) = 𝟏𝟏𝒙 = 𝟒𝟒 𝒎 

𝟒: 𝟒: 𝟏𝟏: 𝟏𝟏     →      𝟏𝟔 𝒎: 𝟏𝟔 𝒎: 𝟒𝟒 𝒎: 𝟒𝟒 𝒎 

 

 

20. The ratio of the angle measure in a isosceles trapezoid is 𝟓: 𝟓: 𝟕: 𝟕. What is the measure of the largest angles? 

𝟓: 𝟓: 𝟕: 𝟕     →      𝟓𝒙: 𝟓𝒙: 𝟕𝒙: 𝟕𝒙 

𝚺 𝒊𝒏𝒕𝒆𝒓𝒊𝒐𝒓 ∠ 𝒐𝒇 𝒒𝒖𝒂𝒅𝒓𝒊𝒍𝒂𝒕𝒆𝒓𝒂𝒍 = 𝟑𝟔𝟎° 

𝚺 𝒊𝒏𝒕𝒆𝒓𝒊𝒐𝒓 ∠ 𝒐𝒇 𝒒𝒖𝒂𝒅𝒓𝒊𝒍𝒂𝒕𝒆𝒓𝒂𝒍 = 𝟓𝒙 + 𝟓𝒙 + 𝟕𝒙 + 𝟕𝒙 = 𝟐𝟒𝒙 

𝟑𝟔𝟎° = 𝟐𝟒𝒙 

𝟑𝟔𝟎°

𝟐𝟒
=

𝟐𝟒𝒙

𝟐𝟒
 

𝟏𝟓° = 𝒙 

𝟕𝒙 = 𝟕(𝟏𝟓°) = 𝟕𝒙 = 𝟏𝟎𝟓° 

 

 


